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[ Apoint P (x,y) is given and corresponds to a real number t. Find the values of the trigonometric functions at
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Let P(t) be the point on the unit circle U that corresponds to t. If P(t) has the given rectangular coordinates, 7

find (a) P(t+mn) (b) P(t-m) (c) P(-¥) (d) P(-t-m) P ["(' P( {;-}19:
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Let P e the point on the unit circle U that corresponds to t. Find the coordinates of P and the exact values

of the trigonometric functions of t, whenever possible. +° 21[_ PU‘ ‘I) )
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Use a formula for negatives to find the exact value. I
A

9. (a) sin (-90°) (b) cos (—5) (c) tan (-45°)
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10. (a) cot (——) ' {,/

(b) sec(-180°) (c) esc (— —)
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Verify the identity by transforming the left-hand side into the right-hand side.

11. sin (-x) sec (-x) =-tan x 12. csc(-x) cos (-x) = - cot x
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Completéthestate y referring to a graph of a trigonometric function. T
13. (a) As x—» 0%, sin x —» 0 (b) Asx —» (-/2), sin x—» il )
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14. (a) Asx—» 1", sinx —» 0 (b) As x—» (/6), sinx—» %
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15. (a) As x—» (1/4)", cos x—» &~ (b) Asx—» T, cosx—» _— )
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Refer to the graph of y = sin x or y = cos x to find the exact
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17. sinx = 1/2 ———=~18. cosx
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values of x in the interval [0, 4nt] that satisfy the
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23. tanx=-1/V3

26. Sketchy =tanx andy =1+ tan x on the same graph.
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25. Sketchy=cos xandy =3 + cos x on the same
graph.




